NAME:  _______________________________

PRE-ALGEBRA

SIMPLE & COMPOUND INTEREST

(SECTION 7-8)

Find the SIMPLE interest.

1.  $900 at 3% simple interest for 5 years.




1.  _________
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2.  $1000 at 4.25% simple interest for 10 years.



2.  _________
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3.  You invest some money in a simple interest account that 

3.  _________

     pays 7% per year.  After 7 years, you have made $245.00 

     interest.  How much did you invest originally?
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4.  You have $1500 in an account that pays 9% simple interest. 

4.  _________ 

     What is the TOTAL amount in the account after 15 years?
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Fill in the Table.

	Principal
	Interest Rate

(per year)
	Compounded
	Time (in years)
	Balance

	$400
	7%
	Annually
	10
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	$8000
	5%
	Annually
	6
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	$1200
	4%
	Quarterly
	15
	
[image: image7.wmf]60

1200(10.01)

2180.04

B

B

=+

=



	$50,000
	6%
	Semi-annually
	40
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REAL WORLD APPLICATIONS

Below are some quotes from local banks regarding certain types of accounts.  Determine the balance for each account if you deposit the minimum amount.

	Type
	Time
	Minimum

Deposit
	Rate (per year)
	Compounded
	Balance

	CD
	12 month
	$500
	0.8%
	Quarterly
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	CD
	30 month
	$1000
	1.6%
	Quarterly
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	CD
	60 month
	$500
	1.8%
	Quarterly
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WORK:

Remember that on these type of problems that you will need to do the following two things:
1.  Divide the rate by the number of times it is given per year.  Quarterly means 4 times per year.  So in the first CD you would divide 0.8% by 4 to get 0.02% (which as a decimal is 0.002)

2.  The second thing to do is if the interest is given more than once per year, you must multiply the years by the number of times the interest is given in a year.  For example, using the first CD again, 12 months is 1 year, so you need to multiply 1 by 4 to get the exponent.
You are given a choice of accounts to invest $10,000 for 15 years.  The first account pays 5% compounded semi-annually.  The second account pays 4% compounded quarterly.  

A.  Determine the balance in each account.


Account #1:  $20,975.68
WORK:  









Account #2:  $18,166.97
Account #1:



Account #2
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B.  Which account pays more?  How much?


Account:  #1








Difference:  $2808.71
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